HW3 GRADING KEY HS 67 F08
Assigned 9/11/08 
Due: 9/23/08 

Exercises: 4.1–4.3, 4.8, 4.10a, 4.11, 4.24, 4.26, 4.35, 4.38, 5.3, 5.4, 5.9, 5.13 (answer in a brief paragraph, type), 5.26, 5.30, 5.32, 5.36a (ignore the requests to eliminate outliers). 
Extra credit: 4.10bc and 5.34
Grading procedure: See HW2 Grading Key for explanation. Our grader has the full key at his disposal. Please contact the grader if you have a question about your grade. The best way to reach him is via the Bb e-mail tool or via malavs.shah@gmail.com. The grading sample is shown below. Notes are intentionally brief to allow for a one-page grading:
	Item and notes
	value
	awarded

	All exercises (4.1–4.3, 4.8, 4.10a, 4.11, 4.24, 4.26, 4.35, 4.38, 5.3, 5.4, 5.9, 5.13, 5.26, 5.30, 5.32, 5.36a) completed in thoughtful manner.
	7
	

	4.2 Water temp = explanatory; weight change (growth) = response; both quantitative.
	1
	

	4.8 This problem was partially completed in class on 9/18; student should show scatter plot and should note the positive linear relationship; step-by-step calculation r should be shown. 
	1
	

	4.10(a): r = -0.75; Note parts b & c are not required but will be awarded extra credit (graded separately)
	1 
	

	4.11 Accurate scatterplot and explanation addressing that r = 0 because the relationship can’t be addressed with a straight line.
	1
	

	4.24 Scatterplot; r = .57; moderate positive association
	1
	

	4.38 I uploaded the scatter plot and a partial answer to Bb on 9/19/08. I asked students to use their calculator to calculate r = .77. Interpretation: the strong positive correlation indicates that sunlight has brightened over time. 
	1
	

	5.4 Students may use their calculators to derive r, b, and a. The interpretation of the slope in part (c) is the most important part of this problem.
	1
	

	5.9 Grade the scatter plot in part (a) and the explanation of the coefficient of variation r2 in part (b).
	1
	

	5.13 The answer should be typed and be in complete coherent sentences that address the possibility that patients with more serious illness may be more likely to go to larger hospitals with better facilities. Thus, the seriousness of the condition is lurking (confounding) variable. 
	1
	

	5.26 (a) r = .558 (b) Tonya’s height predicted to be 64.5; low correlation makes prediction imprecise
	1
	

	5.32 r = sqrt(.16) = .40 
	1
	

	5.36a Scatterplot
	1
	

	5.30 b = 0.5185, a = 36.12. Thus, Y-hat = 36.12 + 0.5185(X). 

For a 67” tall women, the husband’s height Y-hat = 36.12 + 0.5185(67) = 70.85. The line can be derived by drawing a line through (x-bar, y-bar), which is (64, 69.3), and (67, 70.85). 
	1 
	

	TOTAL SCORE
	20
	


Extra credit: Add one to two points only if 4.10bc and 5.34 are done really well!
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